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0-5 15 16
6—15 9 10
16—24 7 8
25—29 12 13
30—34 19 21
35—39 35 32
40—44 60 52
45—49 94 78
50—54 145 110
55—59 222 159
60—64 357 256
65—70 607 435

(2) EARFABRE

BARKRESH T LEES
<30 1.0
(30, 50] 1.1
(50, 100] 1.3
>100 1.5

2. ANEERFIRERS

AT 38 FE R e AR DR B = AR FE K B AR DR B X — 5 BBl > 3 T e FE KB K
E: —E I 3%

=, REABERE

A RGRFMH LEEES

1o BEEON)




<3 1.80

[3-20] | 1.50-1.80
(20-50] | 1.30-1.50
(50-100] | 1.20-1.30
(100-200] | 1.00-1.20
(200-500] | 0.90-1.00
(500-1000] | 0.85-0.90
>1000 | 0.80-0. 85
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(0, 20%] | 0.6-0.7
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(40%, 60%] | 1.1-1.5

>60% >1.5
3. AR 0.7-1.3
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1. Y PRy7 8 BRI R TV 2K P 0.9-1.1
2. AT 0.9-1.1
3. AETE R/ AR 0.9-1.1
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